
 19 1/2" 

 26 3/4" 

 29 11/16" 

 45 1/4" 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 639-501 Bar Height Chair Stand 1
2 625-009 Laser Deck Seat 1
3 516-023 3/8" SS Flat Washer 8
4 516-067 3/8"x2-1/2" SS Btn Skt Cap Scr. 4
5 516-028 3/8" SS Nylock Nut 4
6 516-061 Leg Glide 4

X.01

958-B81CBar Height Chair

SHEET 1 OF 1REV.A
SIZE

Cari
Typewritten Text

Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.



 30" 

 41 1/4" 

1

2

3

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 642-B35 30" Round Table Top Laser 1
2 634-541 Bar Table Leg 4
3 634-542 Leg Brace 1
4 516-058 3/8"x1-1/2" SS Hex Bolt 8
5 516-023 3/8" SS Flat Washer 20
6 516-028 3/8" SS Nylock Nut 12

X.01

958-B81TPremier Polysteel 30" Laser Bar Height Table

SHEET 1 OF 2REV.A
SIZE

Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


	958-B81C
	Sheet1
	Drawing View1
	Drawing View2


	958-B81T
	Sheet1
	Drawing View1
	Drawing View2





